problem. Make sure to show your work!

Example:

At the zoo there were 4 hummingbirds, 3 finches, and 2 parrots. How many
birds were there altogther?

4 +3 +2=29

1. At the beach there were 3 pink shells, 5 blue shells, and 2 yellow shells.
How many shells were there altogether?

2. While driving, Sam saw 2 blue cars, 3 red cars, and 4 yellow cars. How
many cars did he see altogether?

3. At the apple orchard Alice picked 4 apples, her brother picked 2 apples,
and her mom picked 5 apples. How many apples did they pick altogether?

4. Adam planted 6 beans, Sue planted 5 beans, and Alex planted 2 beans.
How many beans did they plant altogether?
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